Tangerine Discussion Questions
Part 3:

1. Why did Erik assault Tino?

2. Why did Arthur assault Luis?

3. Why did Luis spray water on the citrus trees?

4. Discuss the differences in how the people in Lake Windsor Downs responded to the freeze compared to how those in Tangerine responded to it?

5. Give three examples of conflict in Part 3.

6. Why do you think the Homeowner’s Association had a difficult time believing the ospreys were the reason for the disappearance of the koi?

7. How did Luis’ death affect Paul?

8. What flashback did Paul have in this section (pages 230-257)? Why was this information important?

9. What was Antoine’s confession? How did this affect Erik?

10. Why was Mr. Donnelly unable to be proud of his own record?

11. Why did Mrs. Fisher call the meeting at their house? What happened at the meeting?

12. Why weren’t Paul’s grandparents surprised when they learned about Erik?

13. How does Paul feel about going to St. Anthony’s?

14. How did Mr. and Mrs. Fisher learn the complete truth about their son’s actions? What else do you think they learned?

15. Why was it ironic when Shandra said, “You don’t have to live a lie everyday of your natural-born life, do you?” to Paul?

16. What did Paul’s new clothes and the purging of his old wardrobe symbolize?
